INGEERE ST

FHI0EE EBRELHE

BHEEMERT
gl b B8 A CHETS ® X @ iR BRI 2RAR X
166 | @ |166%5 (A3I) ¥aBR T B /= BT R B ~ HABRTHAREETES] 50 | kA STRHE A
368 | E |36858 ({—#HlEBP) N AL e 39| kA
422 | @ (4225 (KEEHLIE) KEEES 09 | &K
422 | @ |4225 (Fh##48) RKEB/INE ~ KEBTH#E 02| kA
24| £ |[ARAE#R FARR 23 B K O #% | #2 B i A< BT ~ YRR # FHET 08 | kA SERL 1
29| F |HABRF LR ¥R 58 Fp /N R BT 11| &
30| ¥ |[BHEEK PR E A HET 03| kA STR A
3| £ | KABNIHR KB X3 1.1 ] /K
P 45| £ |E&-BHBRER ¥R i AR 4 FH BT 04| F& SERL 1
53] £ |[K&rREFERERERIX) KEETIER 0.7 | A&
60| ¥ [FERER BAFNET A E7 ~ ¥R AR AET 05| F#&
421 — |BRRERRER (FARIX) 2 [BTH A ~ ZRBET{EES 1.0 | 3RA
421 — |2 R ENRRER R TX) % [UBTE S ~ ZRETHAMK 1.0 | #RAE
569 — |l B T B = BT 7% ~ YRR 8RS BT & K 23| A
699 — |NEFHRER FARRE2FIK) ¥ARR T K R BT ~ FARRT KIFET 14| $RA SERL 1
756 — |HABRIRAKER R Tt RET ~ R & RET 24 | 3K
756] — [MARRIRAIRER FARR T B A {RET 0.7 | E&k
770 — |&EL=Z#R KEBTT=# 0.3 | kA SERL 1 A
P 422 | @ (4225 -KETREE =1 E=Fix ~ KEBEIAR 45| E#&

X BFELINDOHAFEICE. EREAPEHRS00mU LORSAZEHLTWEY




